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@ 8cm @ 9cm ® 10cm

®)1lecm ® 12cm

2
LA = 180° x 3= 120°

1
/B = 180° x 3= 60°

AB=BE o2&

/BAE = (180° - 60°) + 2 = 60°
m2hA AABE & A4z ot
wt2kA AE = AB = 11 (cm)
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AB = 5cm, DC = 5cm, /B = 55°, 2,C = 125°
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ohg 1713} Zo] AD//BC 2 AekelE ABCD o4 AABO = 20cm”
BO < uj, ADBC 9] {o]=?

0)
B C
@ 40cm? @ 50cm? 3)60cm?
@ 70cm? ® 80cm?

S5 \
AAOB = ACOD = 20cm?

&, 2DO = BO o2&

- ABOC = 40cm?

w2t ADBC = ACOD + ABOC = 20 + 40 = 60(cm?)
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O A% S 24 82 A2 X 7t dofd FES p

® Az Qolbx) ghe A9 FEL 0 olh,
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® BrEA] dojif= AF19] EHE2 1 ot

@0<p<1l—>0<p<l1




i

18
35

11

13
6

o] 3L 4]
oAl




o 5 7l0] Fxdo]

Ho

__o,_

=3

mr_e
i o]
o =
oy il
~ =~
o
T
i, No  mp
% o
o ~ o
w3 Fo he
T R 63
w_m ar )
N T~ =
o &
o Fo My il
< ol Can
ﬁwﬁ%%

[ ] q [ ]

), (51, &
), (51, &) <] 4 7}HA]

Z

Gl

| b= &E2
= 'C'Z

.O
7w Mo
o o

™ o
ol

Tor




10. o8 I"8oA A 19 - 0= AB = AC ¢l o|5HAZH o] YA =}
oA uff zx O] A7]=Y

N\:36°
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B C

@ 14 @18° ® 20° @ 22° ® 24°

~&B

AABC 9] Q4o H O ¢ mj, %ABOC = /A O|EE /A = 36°
, /BOC = 72° o|t},
AABC o] fAlo] A1 %AA+9O° _ /BIC 0]B.E /BIC =

% X 36° +90° = 108° o]},

AOBC & o]5HAZIgo|B & ,OBC = 54° o]t}

%, /IBC = S/ABC = _ x 72 = 36° °|ck. wetA] LOBI =
LOBC - /IBC = 54° — 36° = 18° ©]t}.




oS 139 AABC oA /DAB =
/ACB , /DAE = /CAE ¢ o, x 9]
& -otH?

D)6 cm @ 7cm

(B = 35, /tBAD = /BCA . AABD @ ACBA (AA &)
HS=HE E :BC = AD : CA°JA 12 : 24 = AD : 20
. AD = 10( cm)

AADC |4 AE &= /CAD 9] o]5EXMo]B =g 10: 20 = x :
(18 —x)

oo x=6(cm)
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i) DG = 2EF = 4(cm)

AE = 2DG = 8(cm)

- AF =8-2 = 6(cm)

ii) DF : FC = EG : EC 0|2 _Gz( m)
AD :BD =BG : EG °|2&, BE = 6(cm)

. AF 4+ BE = 12(cm) ©]t}.
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AB, BC 9 =4

°o]=7?

® 40cm?

BaApag el dizhd AC & 1o, 4
Aele.

ABFP = %AACP _ ;LD APCQ

w2k oAPCQ = 4 x 7 = 28(cm?) ©|tt,

P AABC 9 A%
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AD = DB =DC
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1
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BO : OC=-BD : -BD=2:
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